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1. T?Uﬁﬂ%;ﬂﬂﬁiﬁﬁ%ﬂ%ﬁé(bacterial meningitis )i 5 i {15, bFGF(basic
fibroblastic growth factor) &4} -
224,358.6,6.72,8.16,6.29,8.54,5.96,8.16,4.62,8.92,5.15,6.77,5.86,
6.75,7.64,6.39
(A)F BT 5B (overall mean)ft % /> 25)

(B)eh B (median) iz % 4>2 (243)

O LTH 25% BT T 2494 (truncated mean)E % /2 (2 43)

(D)FH 50 overall mean, median, and truncated mean ZAEREI centrality
ZBRBEE - (5 43)

(E)Eﬁﬁﬂ(D)qjﬁﬁlﬁﬁﬁzmﬂﬂﬁiﬁ@ﬁwﬂﬁﬁﬁi centrality #7557 5; - (4 43)

(F) bFGF BRI 7732 (standard deviation) 2%/ 7 (4 )

(G) bFGF Bk #i B (range) EED 224

(H) bFGF ZRLY first quartile (25%) and third quartile (75%) AERYER
BH 21445

O ARERAER S » {BE(G)RHEE A - VREETS SRR 2 (5 43)

2. Hypothesis testing

TRER R Ly, X, BT IER o ARHEFEEA L«

WRBRTE 4 REER 0; ie. Ho: £ =0 vs. Ha: L#C -

(AYRER A, n, 10, S5 Type I error R BRIEAE 0.05(LLF),
PRATIGW, X, E1e (-, UR @ 440 the nul hypothesis Ho ? (5 53)

(B)1E =10 1B F, the power of such a study f: % /2 G 52)

(O)ff 1 =10" HITEI R L BE I power BT LR O s s
ERYH (TR0 S v PV E B 32 (S 93)

3. ﬁ?&ﬂﬁﬁ%fﬁﬁ(population data)f[1 K.
6.2,2.92, 3.07, 4.05, 2.47, 2.97,6.39, 2.87

(A) Please list all the possible simple random samples of size 7 (3 43)
(B) Compute the mean of each sample in (A), and their average.
(Note that each sample has an equal chance of being drawn), (3 43)
(C) Compare your computed average in (B) with the mean of population
data. (34})
(D) Compute the standard deviation of the sample means. (3 4})

(E) Compare your result in (D) with the standard deviation of
population data. (3 4})
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4. TR 65 BLLEFAE A L1 total triiodothyronine (TT3) levels {1 | #4 $U 45
_f;ﬁﬁf%-;z%{@@([ﬁ]‘-~)§H}%’§§'Fﬂl§§}{ﬁi(normal distribution) « H7 SR 4.75
(ng/dl), BIHETRFiz2 0,20 (ng/dl) [after taking the natural log transformation
of the raw data) - FH5188 52 o i EISP I HIELE ALY TT3 level B
HWEZAH 2?3154

(3£ : The upper (and lower) 2.5% percentile of a standard normal distribution is
1.96 (and -1.96)).

5. Ei(:.)ﬂ:ﬁ@#%ﬁﬁmfﬁf%}ﬁ%’é?ﬂl’:?%"ﬁ'ii&ﬁﬁ?%fﬁﬁéiﬁiﬁ%(area)ﬂiﬁ ;

BB R S M 1 (finger length) o 471/ fif BEL SRV 5 5 o 26 e '
(simple linear function) FRfG AR PEICIBB 43 Ak 3L p

Area = -58.694 + 12.7*(Finger length); Pearson correlation = 0.82,
AL AT 5 AR 22 2 33300 - (15 53)

6. Fﬁe?ﬁ?ﬂﬂﬁlﬁﬁﬂ?mgﬁ%_ﬂﬂﬁ:ﬁﬁi’}’ﬂﬁ%ﬁ * B Ty R— 4
SRR T LB R B s i 847 T2 5% 53— B ) fa o T L
TER— LA B b 807 11 - Wi HHBH (R B (Pearson correlation coefficient)
A2 0.808 - RE T1 FEBﬁﬁﬁ%%ﬁﬂﬁ'%wﬂifhfﬁﬁﬁ%ﬁﬁ@%la (gold
standard), ] T2 R H /R T H - o L= )P T2 B3 e 2 2
A FHREIB T - (10 43)

Scattergram
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